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Do not write 
outside the 

box

Turn over

 6 (a) Here is a list of input devices:

  smart card reader, Radio Frequency Identification (RFID) reader, flatbed scanner, 
touch-sensitive screen.

  For each of the situations below, state the name of the most appropriate input device 
from the list above. You should not use the same device more than once.

 6 (a) (i) Information kiosk at a railway station

     ............................................................................................................................................................
(1 mark)

 6 (a) (ii) Payment for food at a school canteen

     ............................................................................................................................................
(1 mark)

 6 (a) (iii) To identify a book being removed from a library without authorisation

     ............................................................................................................................................
(1 mark)

 6 (b) Describe the principles of operation of a flatbed scanner.

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................

    ............................................................................................................................................
(4 marks)
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